ST Y srera - arearas R wven, v
nfore snpea afan
Rerie - 08-12-2019 saen - qrad) ™~ 100
s goh 124

W -Duest 3 | f wara amd g (N we aemnrh S —
afla grnaw a
D)EE B 23 st I fa, gera gt

. 1. 3) arfta awaidta Renan arft ava e far @ fam. 10
1) 2 wuma &9 deara 5 W@ FEen

2) 210+ 7+ 8= ...
3) wu agungeftan wd @ wf wd @ gewu swara, e

Tt g
4) UF EAR W HEAWE R A5 e s

) ziamm R

6) @oreard faona e . ageE swaa.

7) 4287 x 7998 x 0 + 50 = .........
8) @ MEA 6 arid 408 B AR 9R dA, ot fFm an aef

fa & gran
9) 7598% = ...........
10) 95400 = .......... qaNP.
7) gqdta v wEa 10

1) a5 e g XXIX & e siowgia seaifag e
2) 640 o = aqule wgora e 1w ?

3) @ a1 18.74 + 265.6
4) 39 weaa ud v e

5) %.ammmm

LB St i i i

Scanne d with CamScanner



H. 2.

q. 3.

9. 4.

1)
2)

3)

4)

5)

1)

2)

3)

4)

3)

1y
2)

3)

e me e, 15
27 31y 117 gi=m 917, @@,

%%rasﬁaaugﬁ%smﬁqmw.
APSN &1 FHfgySt Bepior 3R, Sk m4N = 50° 3Riel o P 3nfor S T

A1 freft arerchier ?

91, 97 31fr 133 7 HEA © WA T WY TEAT IR TATHROT HHRYT
.

aRFReT 44 |t srguT=T IR S5h B,

g3l TeT Wrsal. 20
Yo fetean AMIITER APQR @rel. a1 QR #ft afidt Hrem amfr .
I(PR) = 6.6 Tt, m/P = 48°, m/R = 42°

TPl GAHTGR Hedeht %, 580 FHTON 6 o @RS Shet. o T WA feharetian
fag et 3732 ¥02 fiwrel. a1 FagRia Qe Bt T e ? TRAw
P! [ @ fbddt v arefiel gt ?

U fGad V-A a1 qufdia 60 3h1 45 faemeff SufRrd g9 =nfr V-B
qufdier 56 Y4B 14 femeff sufRm gx. @ Rudewr =8 anida
A & A o i ih areft e e, i Rier 17 3 umer @) arht
2 IRd. B & dgFE dAgF A i st T e, it Rrer 12 Y 9y
TR ThT 7 SR, T GRAT QN I il ST

15 a9 18 M 13 bRy foocht wrematt (3®) ao e a/gar 2 A
22 fAfe 35 Qb TaeT Fraad} et ?

Glefle W9 WS, 20
JAIT HY 1. (8.33 —2.08) + (1.47 + 1.03)

T AR DR 1 ofex Uit 7 16.2 Rt ot R o, R ot 25.5 aftew
Uelered felt 3faR UR & ?

WWWWWW=WxW+WmW
fergr.

2072007 =+ 100001

Scanne d with CamScanner



4) WW%WWWUW@WEﬁW@mﬁEW
W AN foheft Frehim qu ayer? ’

5) T LG A TR 1,80,000 30 Feam=ht ot aufht gromdt v s,

YaIe U9 Aigar. ’5

1) ﬁFﬂTlS%W@aﬁEm.magaﬁaﬁvﬁammm.
e I TR A ? WP BR A AR B R T N v
uTETel ?

2) wfcfdet 19 320 o0 oxran 15 e ot &, . =@ enfr nRifeetiE
280 ¥R R 10 bl S¥¢ 98T OS i Y0 R ot ¥ Bz
nfcifpeni frft R fawet TR 1400 9 T e ?

3) W I 57.50 vuIE fdeft @R 2.50 v dier @Y. e 9 67.50
BUYN fdehell TR ApeT T el B ?

4) Tl ArATT 30 Ht PUS 3. AN DU UANH 225 Wt widy gos
Pel TR ST ST fapet eps gichier ? facht il Fae Rt ?

5) IOt el dARwd 1 d 16 & als izl
foledr 3IRd. SRelcdT H&AT A9

7 |14
3 15
16




Pune Jilha i
Ganit Afihyapak Mandal, Brihanmumbai Ganit Adhyapak Mandal and
Ganit Adhyayan Adhyapan Vikasan Sanstha, Nashik

GANIT PRABHUTWA EXAMINATION

Date ; 08-12-
08-12-2019 Std-V Total Marks : 100
Time : 12 noon to 3 p.m.

N.B. 1) Write only answer to Q. No. 1 (If you need to work out anything, use
the last page of the answer book)
2) Answers to Q No. 2 to 5 must be with proper explanation, procedure
etc.

Q. 1. A) Fill in the blanks with proper words or numbers in the following 10

sentences.
1) The H.C.F. of any two consecutive even numbers is .........

2) 210+7+5=.....

3) If all sides and all angles of a polygon are congruent, it is called a .........
polygon.

4) The Roman numeral for the number ‘one thousand’ is ...........

5) The vulgar form on% iS o

6) A triangle has at least ............ acute angles.

7) 4287 x 7998 x 0+ 50 =.........
8) A train covered a distance of 408 km in 6 hours. So its speed was ........

km/hour.
9) 8% of 75 is ...........

10) 95400 = .......... tens.

B) Solve the following questions. 10

1) Write the number XXIX in Roman numerals using international
numerals.

2) Find three quarters of 640 gm.

3) Find out the sum : 18.74 +265.6

4) Write all divisors of 39

5) Write the least form of %6%

Q.2.  Solve the following questions. 15

1) Find the L.C.M. of 27 and 117.
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Q. 3.
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5)

Convert —;4—:’ into decimal form.
5
APSN is an isosceles triangle. If m£N = 50°, what will be the measures

of ZP and £8? '
Classify, giving reason, the numbers 91, 97 and 133 as prime and

composite.
Find the area of a square of perimeter 44 cm.

Solve the following questions.
Draw APQR as per given measures. Measure and write the length of side

QR. /(PR) = 6.6 cm, mZP = 48°, m£R =42°
A shopkeeper bought 6 cookers at Rs. 580 each. He sold all of them at
equal prices and got Rs. 3732. How much did he gain in the deal? How

much more was the selling price of each cooker than its cost price?

On a day, in class V-A, 45 out of 60 students were present. On the same
day, in class V-B, 14 out of 56 students were absent. Compare the

percentages of students present in the two classes on the day.

The three digit smallest number A is such that, if it is divided by 17, the
remainder is 2. The three digit smallest number B is such that, if it is
divided by 12, the remainder is 7. Find the numbers and their sum.

How much time should be subtracted from 15 hours 18 minutes
13 seconds so that the remainder is 2 hours 22 minutes 35 seconds?

Solve the following questions.

Simplify : (8.33 —2.08) + 1.47 + 1.03
A motor car travels a distance of 16.2 km consuming 1 litre of petrol.
How much distance will it travel consuming 25.5 litre of petrol?

Carry out the divison and write the answer as

Dividend = Divisor x Quotient + Remainder.

When a container of ghee is filled to its full capacity, it contains 15 kg of
ghee. What will be weight of ghee in hectogram, if the container is filled

to —z— th of its capacity?
Find the amount of the principal to Rs. 1,80,000 at 7 p.c.p.a. after

3 years.
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Solve the following questions.

Draw a c1:rc'le' of radius 3.5 cm. Draw any two of its diameters. Draw
segments joining the end points of the diameters,
What is the type of quadrilateral, do you think, is formed? How will you
verify it?
A shopkeeper purchased 15 kg. of CTC tea at Rs. 320/kg. and 10 kg of
dust tea at Rs. 280/kg. and mixed them. At what rate per kg should he
sell the mixture, so that he earns a profit of Rs. 1400?
If an article is sold for Rs. 57.50, a loss of Rs. 2.50 is incurred. Find the
percentage of profit if it is sold for Rs. 67.50.
A bolt of cloth consists of 30 m of cloth. If it is cut into 225 cm long
pieces, what will be the maximum number of pieces? How much cloth
will be left?
In the adjacent square some of the natural 1318 (12]1
numbers from 1 to 16 are filled up. Write 7 |14
the remaining numbers such that the sum of

3 15
the numbers along each row, along each
column and along each diagonal is equal.

16

Scanned with CamScanner

25



